Wednesday 31 March
Mathematics — To be able to solve addition questions using a 100 square.

12 +9= 1l 2134|5678 9all0
2.20+ 6 = Hl12013114]15]116]17]18]19]20
37415 - 211221232425 |26|27 28|29 30
31 [32|33(34|35|36|37(38]|39]|40
4 33 +17 =
41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50
> I1+26= 51 152053 54555657 |58]59]60
6.38 +5 = 6l | 62| 63| 64|65 66]|67]|68|69]70
714 + 30 = 711 72173747576 |78 |78 | 79 | 80
8 26 1+ 99 — 81 |82(83|84|85|86|87(881|8a|q0
ql |92 /93|94 |95 |96 97|98 |99 |100
Challenge
50+ 32 =
37 +25 =
42 + 44 =
67 + 33 =

If Moonbeam class have 26 children and Rainbow class have 27 children, how many children are there altogether?



